Chemistry Pretest

Chapters 10 & 11 AT- €76 = kC -

L. What mass of water could be heated from 18.0°C 10 87.6 °C by 365kl of < = MCQT
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2. Use the following information to find the amount of energy released when 20.0
grams of element X is cooled from 196 °C to 87.6 °C.
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3. 10.0 grams of a liquid at s boiling poirit absorbed 375 kI of energy which
. yaporized some of the gas. If the mass of the liquid remaining after the energy
was absorbed is 5.70 grams, caiculate the heat of vaporization of the ‘liquid.

\_C’.C)ﬁ --"S’,"TD? = 4 3§L =l i fu d VOGP 7.0 4.

OHHY D 275K M - aq9k3

4. A27.2 gram sample of Millerium (named after some fabulous chemistry teacher) |
) is placed in 2 200.0 mL sample of water. The water temperature is changed from | ML=
zs‘ﬁ - 'jﬁ"w‘ 12.0 °C 0 25.0 °C. -If the heat capacity of Mi is 0.588 Cal/g °C, what wisthe e
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5. How much heat ¢ ' ired to convert 25.0 grams of water at 60.0 °C to a

-gasat 100 °C? {AH, = 2 q) .. AR ¢ = 340.T/q
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HEATING CURVE
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Answer the following questions using the heating curve provided. There may be
more than one answer per question! ,

10. Between what two points would you find both a liquid and a gas? D t
D-t
11. What section or sections would you find a phase change taking place‘? < 4
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12. Between what two points would you find translational motion? _

13. At what-point would you find a liquid at its fregziﬁg point? C

14. Water boils at 100 °C at nermal atmospheric pressure which is about 101.3-kFa at
~—-sealevel. What would you expect boiling temperature of water-to “Be in Denver,
Coloram th an elevation of 5280 fi? Whax,about in Death Valley, CA
which'is located well bo rsealevel’
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15. Use the following data, obtained from a calorimeter lab, to calculate theheat oV Hpa)
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- Mass of metal 106.7g o = . C
T; of water 17.7°C T a0 K
Ty of water 20.4°C : —
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